
l- ll, I \.'ff IAL '+- |

G Ii\lBAL
S tOT

-c;ty-))

CONTROL
STICK

COUPLTR

'l __-s.j-- z-12 x tl4"

ADJUSTABLE
BEARING

SHTET MITAL
SCREW

CONTROL
STICK'

HOUS ING

PICTORIAL 3.1



- 

Paoe23ry
Refer to Pictorial 2-9 for the following steps.

Connect the wires from 80#6 as follows:

( ) Gray wire to lug 3 of control B E (S-1 ).

( ) Short black wire to lug 2 of control BE (S-1).

( ) Either orange wire to lug 1 of terminal strip BD (S-1 ).

( ) Other orange wire to lug 2 of terminal strip BD (S-1).

( ) Remove the tape from the end of the black wire

coming from 80#6. Then connect this wire to lug 4

of terminal strip BD (NS).

( ) Prepare the end of the red wire coming from the

battery. Then connect this wire to lug 4 of lerminal
strip BD (S-2).

( ) Connect the violet wire coming from BO#1 1 to lug 1

of control BG (S-1 ).

( ) Refer to the inset drawing on Pictorial 2-9 and

connect either green wire coming from BO#10 to
either indicated lug on switch BH (S-1 ).

( ) Connect the other green wire coming from BO#1 0 to

the other indicated lug on switch BH (S-1 ).

NOTE: The remaining wires will be connected later.

CONTROL STICK ASSEMBLY

Refer to Pictorial 3-1 (fold-out from Page 22\ for an overall

view of the control stick assembly as you perform the

following steps.

ln the following steps you will put together the control stick

assembly. Carefully assemble the parts as shown in each of
the Details; be sure each part is in its proper place, and that
nuts and screws are properly tightened. Before you perform

each step, locate the necessary parts for that step.

( ) Prepare the following wires:

T" small red

7" small white

GII\IBAL
COUPLER

/t:\tt
2-32 X rl4"

SCREW

@

HOUS I NG

(3)

TWISTED WIRIS

zCONTR0L STICK
tl HouslNG'

o

Detail 3-18

( ) lnsert these wires through the control stick as shown

in Detail 3-1A. Pull the wires through until equal

lengths of wire are at either end of the stick.

( ) Refer to Detail 3-1 B and assemble a control stick

assembly. Follow the numbered sequence.

NOTE: To operate properly, the control stick must move

freely. Move the control stick knobs in a circular motion and

loosen the ball housing screws if necessary.

( ) Twist together the red, white, and black wires coming

from the control stick. Then route these wires through

the hole in the control stick housing'

( ) Set the control stick housing aside until it is called for
later.

BAL
.R PIN

$,

v

CONTROL
STICK

Detail3-1A

7" small black



tqn"rO @

stLC0r,t
GRiASE

a"
IOO l(O CONTROL

#r0-923

POSITION
ROUGHER

TDGE
TO!!ARD

CONTROL NUT

(8\/n
>( t,

PRESSURE \'IASHER

CORK WASHER

Detail3-1C

( ) Refer to Detail 3-1C and carefully examine each of the

control mounting plates to be used in the next step'

Note a small #1 on one plate and a #2 on the other

plate (the numbers may be printed backwards). The

#1 and #2 determines the number of the assembly'

NOTE: Other parts may also have numbers on them,

but these maY be disregarded'

( ) Locate the container of silicone grease and open it as

shown in the inset drawing on Detail 3-1C. Then as

you assemble the control in the following steps, refer

to the Detail and apply a thin layer of grease only

where indicated. Be careful that you do not get

silicone grease on anything else.

Refer to Detail 3-'l C for the following steps.

( ) Assemble the #1 control assembly following the
numbered sequence. Be sure to use silicone grease

where indicated.

( ) Assemble the #2 control assembly following the same

numbered sequence. Be sure to use silicone grease

whe; indicated.

CONTROL FRONl
COVTR >P@

coNTROL I
WASHER I

IRIl\4 PIATF

BRASS
BUSHING

(#i 0R #2 AS
CALLTD OU]

IN TEXT)

CONTROL
NI]T

LARGI
CENTIRINC

SPRING STUD

D OG

S TO P

ONTROL
st/\'181Y

I

\"1

C

AS #

SIilALtFR
HOLT

@

INSET #I

TEFLON
U/ASHIR

GI[4BAL COUPLIR
STUD MUSI

FIT INTO OPENING

NYLON
SPACER

H INGE
PIN

GllrlBAL
COUPLER

INSET

INSET

CONTROT
I\'lOUi\TING

PLATE

Detail 3-1D

,-



-

-- Patez5ry
l;sPnlrr-l

a\
--,-.ril NYL0N

SPACIR

Refer to inset drawing #2 on Detail 3-1D and notice the

difference between gimbals #1 and #2.

( ) Assemble gimbal assembly #1 as shown in Detail

3-1 D. lt may be necessary to use some force to
assemble the hinge pins and gimbal couplers to the
gimbals in steps 7, 8, and 9.

INSET #2

-/a)P)- 2-32 x Il4'
SHEET ['IETAL

SCRE!!

CONTROL STICK
HOUS ING

Detail 3-1F

the control stick coupler into the gimbal slot, and

fasien the control assembly with two 2-32 x 114"

screws. The control mounting plate screw holes are

made accessible by moving the trim plate knob one

way or the other.

Locate control assembly #2 with an adjustable bearing
(assembled in Detail 3-1 E). Position the adjustable

bearing so its foot is pointing straight down, as shown,

and tighten the adjustable bearing screw. The gimbal

must now point straight up when the adjustable

bearing foot points down as shown.

Loosen the adjustable bearing screw three complete

turns. lt may be necessary to pry the adjustable

bearing apart with your screwdriver.

Mount the control assembly (assembly #2 with an

adjustable bearing, assembled in Detail 3-1E) into the

control stick housing position (#2). Position the

remaining part of the control stick coupler into the

gimbal slot and fasten the assembly with two 2'32 x
1/4" screws.

*/'tox'^GNW

ftffiffiw[*,,n

ffirlm) .xrir,.. ^ ::]rr:i

Jin"' cOupLLR BEARTNG

()

()

d,r,rot GTMBAL I SPRtNG\ sTUD ASSTNTBLY r?

;i"' n' 
/ r0r,,., O^\g\g

CONTROL
NIOUNTING

PIATF

INSET #I

Detail 3-1E

Assemble a gimbal assembly #2 as shown in Detail

3-1 E.

Refer to Detail 3-i F and mount the completed control
assembly #1 with the nylon spacer (assembled in

Detail 3-1 D) in the following manner: Hook the hinge
pin into its hole, position the rectangular portion of

()

This completes the assembly of the control stick. When the

control stick is moved to any position other than center and

released, it should freely return to center. However, if the

control stick binds or does not return to center, loosen the

four ball-housing screws shown in Detail 3-1B. lf this does

not remedy the situation, make sure that #1 or #2 parts

were used when they were called for. Also be sure the

control stick coupler fits into the gimbal track properly as

shown.

()

()

-'r \22-
ll

a.

STL]D I,I]LIST FIl
INTO OPFNIN(;



s
u

2-32 x ll4"
S HETT I\lETAL

SCREWS

TO P OT

CASE

PICTORIAL 3-2

( ) Refer to Pictorial 3-2 and install the control stick
assembly in the case with a control stick cup and four
2-32 x 1/4" sheet metal screws,

Refer to Pictorial 3-3 for the following steps.

( ) Start two 6-32 x l/8" setscrews in the rudder control
housing.

( ) Slide the small end of the rudder control housing onto
the control stick far enough so the lower setscrew can
be tightened against the stick.

( ) Move the control stick all the way to one corner. The
bottom of the rudder control housing should be just

above the cup. Readjust the rudder control housing up
or down on the control stick if necessary.

Refer to Detail 3-3A for the following steps.

s
u

I

S
v

()

()

IDTNTIFICAl
T'1A R K

Detail 3-3A

Locate the 100 kS) control (#10-916) and note the
identification mark near lug 1,

Cut each lug on the control so it is 1/1 6" long.

() Cut the bare end of each of the white, black, and red
wires (coming out of the end of the control stick) so

they are only 1/16" long.

Detail 3-38

Refer to Detail 3-38 and connect one end of the prepared

wires to the 100 kQ control as follows:

( ) Black wire to lug 1 (S-11.

( ) White wire to lug 2 (S-1).

( ) Red wire to lug 3 (S-1).

Refer to Pictorial 3-3 for the following steps.

( ) lnstall a steel spacer onto the control with a 1/4" nut.

%y"% o 3rt 4" Ert



I

@
( ) Slide the control into the rudder control housing while NOTE: lf the rudder control knob already has a setscrew in

you gently pull the control wires through the stick it, disregard the next step (and note that a 6-32 x 3116"
from underneath. setscrew will be left over when the kit is completed).

( ) Position the control all the way into the rudder
control housing. See inset drawing #1 on Pictorial 3-3.
Then tighten the setscrew.

lnstall a 6-32 x 3/16" setscrew in the rudder control
knob.

Position the rudder control knob so its stop aligns

with the stop pin in the rudder control housing, as

shown. Then slide the knob down onto the control
shaft.

Turn the rudder control knob back and forth slightly
so the knob stop will seat htween the rudder control
stops. Then tighten the setscrew in the knob with the
allen wrench supplied.

Turn the rudder control knob first one way and then
the other way. You should feel a pull back to the
center position as you turn it. lf you do not feel this
pull in both directions, repeat the prwious three steps.

()

()

()

{)

()

()

()

Set the rudder control shaft to the center of its
rotation.

Slide the black nylon spacer over the control shaft.

Locate both rudder control stops and the small coil
spring. Attach each end of the spring in the small hole
in each rudder control stop.

Place one of the rudder control stops over the control
shaft.

Place the teflon bearing over the control shaft.

Place the other rudder control stop over the control
shaft. Refer to inset drawing #2. This is the way the
two stops should look.

Refer to Detail 3-3C and position the rudder control
stops so they are on either side of the stop pin. ln this
position, the coil spring must be stretched.

()

()

()

()

o ancD

CCi.TROL
S]OPS

RUDDTR
CONTROI,

KNOB

RUDDER
CONTROL

STOPS

6-32 x 118"
SiTSCRTWS

PICTORIAL 3-3

RUDDER
CONTROL

./KN0B
ALtTi\

!VRENCH

ll4,.ur-@

,,rrr---@
spAcER --ra

i00ko
COI..]TROL
t=10-916)

RUDDER
CONTROL
HOU S I NG

CONTROL
Detail 3-3C

STICK


